Al & O &8 Ab e & Ml A

=i 23t &4
REESEEEEE (chol @)
LA BRAE) - RN - BAS of v e HIDE2
4,632,443 3,164,367 1,468,076
Al 85,000
- 4,547,443
b 23 &4 4,255,605 2,384,060 1,871,545
Al 85,000
- 4,170,605
S (FUYSESIA) 568,259 497,444 60,815
gxtetS2e 101,688 132,848 A31,160
Lot2 A 65,153 71,873 AN6,720
At22telt] 23,192 29,912 26,720
Ogit=3ZH| 16,000
—EYHFEIEEENH
1002 %30, 000 +35+80%<E 2> 7,200
—SEHFENESSME
70,0003 *80JH +80%<E 2> 4,480
—EHEINTE2I S|
200,000 x 122 «80%<E &> 1,920
—WSHHHEX TS
50,0002 *60JH «80%<E 2> 2,400
Oul=t| 4,120
—FXSSTSHI (AR EH D H) 1,648
SHAMM=S 150,000 =42t 600
gets 80,0003 *4=t 320
ctat 50,0002 *4= 200
CHQ 32,0002 *4H 128
g 20,0003 »4%} 80
===Vl 30,0003 x4=t 120
- of= 50,0002 *4=t 200
—FAHESLISH(HESSRY) 2,472
- HEAM= 150,000 x6% 900
- Yet= 80,0003 x6%¢ 480
- Etgt 50,0002 6= 300
32 32,0002 *6H 192
- L 20,0003 6% 120
EEIEY)] 30,0002 x6%t 180
ot= 50,0003 «6= 300
o=l 3,072
—SEFERORIHESEZ S A
8,000 2«6 302 xB0U<E &> 1,182
—SE2MEEORIEES 2544
8,000 1&» 152 » 122 »80%<E 2> 1,152
— AN SEM R A2 RS A
8,000 * 15 4 L 24! x80h<E 2> 768
02 S3=gHl 30,061 30,061 0




SA: DED
Hu: N3 X=X 28 A4
SRS VLIS EEELR) (crel: &gl
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXtett| 24,061
—-SE(8E) 5,247,000 =4CH 20,988
—3=2(8E) 3,073,000 *1CH 3,073
OZZ2=ZAAl 6,000
—NSALEE2 (MY, SEH/4M) 2,000
SE(SE) 400,000 =4CH 1,600
- SH2(E9) 400,000 *1CH 400
— XS XAl 2,000
- 52(38) 400,000 x4 CH*12] 1,600
- 32(E8) 400,000 *1CH*12] 400
—SXRELR2ACICHAZIEHEHH A E S 2,000
Eolitia 28 500,000 42| 2,000
04 SIEE=SAM Al 11,900 11,900 0
OX SN Al ] 11,900
—=XJl=2&Hl 1,490,000& x7H 10,430
—HMEELEEHOIZEEE)
210,000& +7& 1,470
202 04| 5,760 5,200 560
01 2L A LI 5,760 5,200 560
OSgFaxtsgR=A
10,0003 6 120 +80%<ZE 2> 5,760
204 ARt AH 2,775 2,775
02 SLR3H 2,775 2,775
OISt (AZHI R 1) 2,775
—F20AI2H2 2K
50,0004 %20/40+4 B« 12 1,200
—FHBAIZ LA
50,0001 x35/40+38 12 1,575
303 Zai= 3,000 3,000
01 Za= 3,000 3,000
OFgditittHeds-2as
3,000,000& 3,000
401 A& HIX R0 25,000 50,000 225,000
01 A28l 25,000 50,000 A25,000
O=g=F - EXLXAIEEX
25,000,000 25,000
SYFEI RoSRI =2 317,425 246,402 71,023
201 =3 186,285 160,402 25,883
01 AtR2t2lt] 65,571 43,048 22,523
Oggt=3H| 6,048
—FAUHBINCIEES M
100312, 000 25 +80%<ZE 2> 1,920
—ROICHSIL0I S oL &) 2HEE RIS
150, 000& * 1270 +80%<E 2> 1,440
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2A: Ws
L ETSIES L
SRl XA (FRESLEH) (crol: @ 2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—SPOICHEI M cHEHS O & =0 I 2
70,0003 *48IH +BO%<E 2> 2,688
Ozels4| 59,523
—ROIHEAAEIF X224
41,382,000 14 41,382
—FHHCBAAYR K| B4t
6,047,000 *3CH 18,141
02 32| 120,714 117,34 3,360
OAIE &Y= XIY| 21,000
—ROI=EIt0 et E ]
3,000,000 *7CH 21,000
O3322LHA 99,714
—ROIHSAIABSIHAMES
120,000 x50 A+ 12& 84,960
—ROIHBAIABNI RS
20,000 #5901 A+ 12& 14,160
RO A AHDHENRS
16,500 *3CH* 12 594
401 AIEHIZ20HYI 126,000 86,000 40,000
01 Al&Hl 126,000 86,000 40,000
Otk=sothlete siHe 78,000
—RoIEIthletd SIHE AL
19,500,000 *4CH 78,000
OBHFHI LSS AL H & 12,000
— POISHEAI AHOIF &K
12,000,000 *1CH 12,000
OSEFIXUCCIVHSZ AEA 0N 36,000
—EYHTHIURUSAABSAZAL
30,000,000 * 14! 30,000
—SHTEXNRAHSAIAE IS A
6,000,000 x14! 6,000
405 XHeHE S| 5,140 5,140
01 AL =ZFSHI 5,140 5,140
O=YHFEICCTVE S A2 A0 M A X 5,140
— X AZ2Xt 230,000 & =64 1,380
— A 450,000 64 2,700
— I 330,000 24 660
-4y 400,000 *14 400
SYHFEX MHg 20t = 119,94 118,1%4 1,800
201 Ler2 | 119,94 118,1%4 1,800
01 At 22|l 57,924 56,124 1,800
OgEt=2H| 36,144
—SHTEINSAIA S 2 MM
70,0002 *504F XH80%<E 21> 2,800
—SHFINNHEZDINANLSZSEOIM
70,0002 * 1004 KH80%<&E 2> 5,600
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2A: Ws
A M7 EX 28 X4
CHl: XA ASR (XSS H) (12l M2
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—=SHFEXUEH S S A REAEI A HIE
2002 *4,0000H * 122 x80%<E 2t> 7,680
— =X UEHS ML A2 F 0 DA 144
70,0002 *504¢ Ki+80%<E 2> 2,800
—SESEIILEE
100, 000 *6IH *B0%<E 2> 480
—DETEIARE(EHS)
400,000 *30JH +80%< & 2> 9,600
—SE=EI |2
500,00021*1CH#25] *800< 2> 800
—ABTEIEI A
1,000, 0003 * 1A xB0%<E 2> 800
—RENURUBHSYE
3,000 x6024 *80%< & 2> 144
— B 2ItESE T
40,0002 *3. 5%+2,0002H 2,800
—NEBHBXS| (MY DAIASAIEZ
2,640,000 14 2,640
Ozels9d| 21,780
— =X UVEHSAIAB RS B
1,815,000& 128 21,780
2 S=29| 62,070 62,070 0
O=32ZL A 62,070
— Yot H 4303 *12,0004 * 122 61,920
—SJ|I9H 2,500 x4+ 123 150
JHOIE 0| S 4=CH(PM) EH 19,152 0 19,152
101 el H| 16,252 0 16,252
M IIRINZ2Z2XsE+ 16,252 0 16,252
OOIESXSESLUALR2UMI R (BUEEZ)
2,257,200 1B+ «80%<E 2> 16,252
201 B2 AL| 2,900 0 2,900
01 ArR22ltl 2,900 0 2,900
Oggr=2| 2,076
— =X BPMERSH D E S I
5002 *100&+ 122 600
—=EXRAEPNACITHE =
41,0002 3CH*12& 1,476
Oul=t| 824
— =T X2 BPNEHS R AT =Y 824
- HYAH= 150,000& 2=+ 300
Ler= 80,000 x2= 160
Hat 50,0003 2= 100
- 38 32,0003 294 64
- 29 20,0003 =2%¢ 40
=) 30,0003 =2%¢ 60
o= 50,0003 =22 100
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FA WS
M MF EX 28 X4
Rl EXIAILEE(FRESHE) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 16,175
101 @1A4H| 16,175 16,175
04 JIZtN2Z2 XS 2+ 16,175 16,175
OBYEXHSBHBIA0ILY (SHLER)
10,8003 +2B #4 A| 2H+26 2«0 F +80%<E 2> 16,175
201 =3 20,000 36,000 16,000
Al 20,000
01 AtR2t2|HI 4,000 6,000 A2,000
Oget+=EHI 4,000
— SOIBHAIAEIC e RS
4,000,000 4,000
Al 4,000
02 s3=gHl 16,000 30,000 214,000
OAlZ EHIs Xl 16,000
~TESABAILR BRI (ALSR)
16,000,000 16,000
Al 16,000
W& =XH&2E01 AF (AlHD) 60,000 80,000 /20,000
Al 30,000
T 30,000
402 QI”F X201 & 60,000 80,000 220,000
Al 30,000
- 30,000
02 QI A2 AL E R (0IETHR) 60,000 80,000 /20,000
OUE =R 60,000,000 60,000
Al 30,000
- 30,000
OlHE2 =Xt7&d &XI(AlH]) 10,000 10,000 0
Al 5,000
- 5,000
401 AlEHIZL SO 10,000 10,000 0
Al 5,000
T 5,000
01 Al&H| 9,900 9,900 0
O0lBE2EMRE ML
9,900,000& 9,900
Al 4,950
- 4,950
03 AlE S THYI 100 100 0
OO0IHEZFAHEHEX 100,000 100
Al 50
- 50
SNSRI (AILHI) 60,000 60,000 0
Al 30,000




SA: DED
M MF EX 28 X4
SERES ONEEEIES E=EL 5 (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 30,000
201 Zet=3hl 400 400 0
Al 200
- 200
01 AtR2tc|Hl 400 400 0
Oget=ZH] 400,000& 400
Al 200
- 200
402 QI”F X201 & 59,600 59,600 0
Al 29,800
- 29,800
02 QI X2 AL E R (01X THE) 59,600 59,600 0
OR &= IH N 59,600,000 59,600
Al 29,800
- 29,800
SHFALFEL 212 SYFIE ZEAMY 300,000 22,000 278,000
401 Al BIXL S THYI 300,000 22,000 278,000
01 Al&HI 300,000 22,000 278,000
OSHALAH 2SI Y
300,000,000 300,000
scl0lcH3E =T g 2,800,000 1,500,000 1,300,000
401 AIZHIZL R0 2,800,000 1,500,000 1,300,000
01 Al&H| 2,740,000 1,500,000 1,240,000
OsclllhsEFANE T LA
2,740,000,000& 2,740,000
02 Zeltl 49,000 0 49,000
OScllicHSE =R Td AL
49,000,000 49,000
03 Al 20HHI 11,000 0 11,000
O=clllhsEFAHE T LA
11,000,000 11,000
Heis 1ols S gAY 250,000 250,000
401 AIEHIX R0 250,000 250,000
01 A28l 250,000 250,000
Otlcdisnelssd =AY A
250,000,000 250,000
oligil 15,259 14,104 1,185
801 OfiHIH 15,259 14,104 1,185
01 Letolblbl 16,259 14,104 1,155
Oollblbl 15,259,000 16,259
HH2AZH(EM) 348,039 365,107 AT7,068
CIAZHH(FUHESESIA) 348,039 365,107 A7,088
QA2 (FUHESESIH) 348,039 365,107 A7,088




2A: Ws
T BHSAAY|(DED)
SEEREELSHIES YECT ) (crol: m2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
101 2124 d| 348,039 355,107 AT7,068
02 JIEt= 2 234,464 204,107 30,357
OF 52 (AI2HD ERTHI LD HIF=20A1 24H/4H) 109,566
—J|== 79,088
- AR ERRIL DA
1,449,000& *4Z 123 69,552
bSESY/ Fals] 69,552,000 *3. 1% 2,157
CHNASE 70,943, 0402 % 130%x8% 7,379
—S4K LG 8,438
5EQIAZ R 194,730 *3F + 122 7,011
540|222 118,850& x1H + 122 1,427
—IEY 6,315
Hi 2 Xt 40,000&*0.90x4H  12& 1,728
JIE 20,000&*1.61x1H+12& 387
- AWM XA 30,0003 x1E 123 360
- SMXHA 70,0003 +3H 123 2,520
- SUTHKHA 110,000 x1H» 123 1,320
— A3 EXH| 175,000 %20/ 40x4H + 122 4,200
—HAZAlH| 140,000& 4B+ 122 6,720
— A2t 284
9,685 11/ 15%4H *10A| 2128 * 1. 02+90%< &
2> 3,130
— I &M
1,449, 0002 42 x84%+86%+ 12/ 30 1,675
OF X hEA S (AIZHIER I I /IZ=35A124/3
A) 124,898
=] 101,356
AZHAERTI DA
2,476,0002 x3H + 12& 89,136
SpSESY] Falsll 89, 136,000 +3. 1% 2,764
YIS 90,919, 000 *130%+8% 9,45
— S22 5,190
-5EO| A2 R 194, 7032 1Hx 128 2,337
-5E0|e2 R 118,850 x2H + 12& 2,853
—JE4Y 2,451
- B A 40,0003 *0.90x2F + 128 864
JIE 20,0003 *1.61x1Z»12& 387
B PAE 30,0003 x 1Y« 12& 360
PN E 70,0003 x 1« 12& 840
—&ZEX| 175,000 *35/40+x3%H * 12 5,513
—ZHZAH| 140,000& *3F 122 5,040
— Azt 28
9,685 x3H #10A| 2t 123+ 1, 02+90%<E 2>
3,201




FA WS
M #ReHAY|(DED)
TR IR UH|(FIUESESIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SotE 4]
2,476, 0002 *3% »84%86%* 12/30 2,147
03 SRA(RIH )22 U2+ 113,575 151,000 A37,425
OH=EX(He2/38) 113,575
—JlZ2s 1,867,000 x3E «12& 67,212
—d0=2 1,867,000 *3E +200% 11,202
—225 12,9473 %1 5«3+ 120A1 2t 6,992
—dReERtrE
14,0502 +BA| 23202 6,744
— 2= 60,0003 x3& * 122 2,160
—IEse 1,320
BN, 40,0002 x 12 x 122 480
JIE 20,0002 x2& =122 480
S NDNTE 30,0002 x 1 x 122 360
—= el 140,000& x32* 123 5,040
— St 140,000 x3&* 123 5,040
—SEFHI 1,867, 0002 *3Z +60%*22] 6,722
—3=2+ 1,867,0002 %10 29x2 & x3H 1,143
Weegs(ns) 28,79 425,200 396,401
WRHHXE(FRESESIA) 28,799 425,200 396,401
WA XIE 28,799 425,200 396,401
@R I1=dES 28,799 425,200 396,401
0 JIsdEsS 28,79 425,200 396,401
OFiExdlI=sdES 28,799,000& 28,799




